[image: image6.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image7.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image8.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image9.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image10.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image11.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18




[image: image12.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image13.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image14.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image15.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image16.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18



[image: image17.png]186 + 6 = o 3

1
6| 1'8 6
nograu)'nsafﬁ\—/A 1x6=6

can be made 3x6=18




[image: image18.jpg]10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

77

78

79

80

81

82

83

84

85

86

87

88

89

Q0

a1

Q2

Qa3

%

5

Q6

q7

a8

Q9

100









	Greater Depth: To use inverse operations to find missing values.                                                [1]
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	What are the missing values in this function machine? Use jottings to convince me.
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	What are the missing values in this function machine? Use jottings to convince me.
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	What are the missing values in this function machine? Use jottings to convince me.

	4.
	I am thinking of a number. I add thirty-nine to it then divide it by four. Finally, I multiply it by seven. I get one hundred and ninety six. What was my number?

	5.
	I am thinking of a number. I subtract two hundred and fifty four from it then multiply it by six. After that, I divide it by nine. I get thirty-six. What was my number?

	6.
	I am thinking of a number. I divide it by seven then add two hundred and forty two. After that, I multiply it by eight. I get two thousand, three hundred and twelve. What was my number?
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	What are the missing values in this function machine? Find 3 possibilities that work. Explain your reasoning and convince me by using jottings.
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	What are the missing values in this function machine? Find 3 possibilities that work. Explain your reasoning and convince me by using jottings.
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Developing 2: To use short division to divide 3-digit numbers
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1. 246 ÷ 6 =		    6. 861 ÷ 7 =


2. 287 ÷ 7 =		    7. 276 ÷ 6 =


3. 684 ÷ 6 =		    8. 322 ÷ 7 =


4. 798 ÷ 7 =		    9. 456 ÷ 6 =


5. 786 ÷ 6 =		    10. 245 ÷ 7 =
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Developing 1: To use short division to divide 3-digit numbers
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5. 784 ÷ 4 =		    10. 201 ÷ 3 =
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Mastery 2: To use inverse operations to find missing values


		    


1.   ______ ÷ 5 = 87


2.   ______ x 4 = 756


3.   ______ ÷ 7 = 36


4.   ______ x 7 = 476


5.   6 x ______ = 288


6.   ______ ÷ 6 = 78


7.   8 x ______ = 272


8.   6 x ______ = 762


9.   ______ ÷ 7 = 73
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Greater Depth:	                         [2]





I am thinking of a number.


When it is divided by 9, it leaves 3 remainders.


When it is divided by 2, it leaves 1 remainder.


When it is divided by 5, it leaves 4 remainders.





What is my number? 


Is there only 1 possible answer?


How did you know that this was the answer?  What steps did you take to find my number?
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